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(milliammeter) deflects/shows reading/current OR reading changes OR there
is a current
change of flux/field (lines) cut OR emf/current induced/produced

greater deflection/current
rate of change of flux (linkage) is greater o.w.t.t.e
e.g. more magnetic field lines cutting coil (per second) OR field cut fast

upwards/opposite to magnet’s direction of travel ignore towards magnet

current (in coil) causes a magnetic field
force caused by overlapping (magnetic) fields
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‘Which metal and which power supply are used to make a permanent magnet?

metal power supply
A iron 6Vac.
B iron 6vd.c.
c steel 6Vac.
{ steel 6V
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o secromagnet i a ERFTGRES s conneced 0 bteryand an open swich. The GRERE)
core i ust above some smallSaIkG nais

THE SOFT IRON IN THE CORE AND

= S NAILS IS EASILY MAGNETISED, BUT

- DOES NOT HOLD A MAGNETIC FIELD
—-_ FOR A LONG TIME

; softron core WHEN THE SWITCH IS CLOSED, A

softron nais MAGNETIC FIELD IS INDUCED IN THE

SOFT-IRON CORE BY THE
= Ao o ELECTROMAGNET, CAUSING THE NAILS
Mo swich s now closed, et closed for & e seconds, and then openec. UL D)

What do the softron nals 6o as the swich i closed, and what do they do when he swich is

hen opaned?

a5 switch s closed_| as swich s opened | WHEN THE SWITCH IS THEN OPENED,

THE SOFT-IRON CORE LOOSES THE

INDUCED MAGNETIC FIELD; ANY.
nals jump 1p rals sy 10 X MAGNETIC FIELD INDUCED IN THE

bt} NAILS WILL ALSO BE LOST, CAUSING

B THE NAILS TO FALLDOWN

nalls jump up nais fall down

cow >
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Which group contains only non-ferrous metals?

A i —brase—Hen X
B brass, copper, lead/
C -eopper-ironroteet X
D cepitrr bt ot X

FERROUS METALS ARE EITHER
IRON (Fe), OR CONTAIN IRON.
IGNORE ANSWERS A & C

STEEL IS MOSTLY MADE UP OF
IRON AND CARBON, SO IT IS A
FERROUS METAL.
IGNORE ANSWER D

BY EXCLUSION, ANSWER B IS
CORRECT

NON-FERROUS METALS DO NOT
CONTAIN ANY IRON.

‘COPPER (Cu) AND LEAD (Pb)
ARE ELEMENTS AND S0 DO
NOT CONTAIN IRON
BRASS IS AN ALLOY OF COPPER
ANDZINC, AND SO I5 ALSO
NON-FERROUS.

HENCE ANSWER B IS CORRECT
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